Solving Right Angle Triangles for Angles | MFM2P

Mr. Smith’s friend Ryan is back at his job, again. The conveyor belt that he built previously has a limit on how
steep it can be. To be up to code, ramp must make a 10° angle with the ground. If the belt is 20m long, and
reaches 3.47 m off the ground, is the ramp up to code?
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Label the diagram with Mr. Smith and follow along as we find our first angle:
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Up until now we have only been finding sides in a right angle triangle. Now we are going to find angles. Let’s try
a couple more.
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Q Diagram: Set up a Proportion and Solve:
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Let’s try some more without the structure now that you get the idea. For the following triangles, use the

appropriate ratio to find the unknown angle. .
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